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g[/&f‘c)»d/u;f(é/dj;/ﬂ;uj&rfé U«B /)’A/ﬁ 5.
(i) AU(AnB)=AN(AUB) (i) AUB=AU(A'NB)
(i) B=(ANB)U(A'NB) (ivv B=AU(A'NB), ifAcB
:(Venn Diagram)ﬂf& 50 17.1.3
_‘LCﬁggﬁwu‘ﬂﬁ/”uﬁfwh,wuéwcqfugémguﬁuﬁtz&“f”d%ﬁ
Efb@(bé(]une Venn)u:)u;Zu!;@L/z/ﬁﬁuj:ﬂrl/ﬁglﬁgj:;/é_///;w&/‘“}fu’!
Vil e S5 UL QU S Qe s S Cube U5 1881 1 P
uﬁ/;)r!//dﬂﬁq’ﬁf:uj?d/(/;w}/i{‘Jﬁld}%‘/}!g//l)fg%‘at’lg

L}

SA crtuer v en Sy

v ‘
@ @ IB A A sredizUine o 2601 8bers (G




ZA ‘al,////zw"ijélfd“} (iv) u@/ulﬁ)%p//{w"l/&ﬁ’@; (iii)
BCASB er S Bt A ar

[v
: - (©
:(Use Venn Diagram to represent)(/./, Jl;v“v’iﬂf &Gwcj. L& TS fso0nr 1713
:(Union and Intersection of sets )y 6 s Us s <
:(Complement of a set)y/eirey Ler i <
:(Symmetric difference of two sets)y 3 FEL usrss <
:(Union and Intersection of sets )y & e srss <
-LLV//:U; ﬁﬂi,’l?g B . A/JL;!KB 23l A u}’rnfw(ﬂ/d;sq,c”@/;ﬂleéu;f;}
‘LL“//:U;[ AUBJIWKk (}'f/k/l),:b(i) JQ
_‘at’//gw;"ﬂ&f/”}g B .1 A]é@gB//”A u;.‘.’ufg%
~e w6 AnB Sk 6L LD P

-

o

ANnB
i |

.

A B B
(D HF

ANB s AUB J B={2,4,68} s A={1,2,34,5}, U={1,2,3,.,10} J :1 )i

Q//:W(lféqu;,g/),z;

ANB Il B JWAOF AUB Skl BTNV
i A6 O
nf et oS e InJ et S e
ANB={2,4} AUB={1,2,3,4,5,6,8} i
ANB AUB

E A B ! Tl A B




A :(Complement of a set)u»’uh/..f! <

U /lb:’/.alkﬁwdbb/ T KA e K "!/dbu’;
Stk L/!),./VUJ(I) Jé fLU&ﬁAwg!rgt‘/
-‘LL//:U: :(A'
= //}LJV
Ot A Qe ad A {1,234} 1 U={1,23,...8} /]
A u’/’//:U: A
U _ A B ) S
S L LG eSSBS
2 . ‘LL”//:LE'/A'
U 7 A'={5,6,7,8} i ULslali
(i) '
AAB :(Symmetric difference of two sets)u“/‘f B U s <
U A B ZBslIA J)UKWKB/;IA M}ch_)’“"'/dijcjﬁ
U DF L Sy v 6 Sy
—et/ b AAB St st bt o2
D _Q://zu;rl/difq’);j/]y@ /GIJC"

/ | AAB B={a,b,c} il A={a,c,e}(U={a,b,c,d,e,f}f;
| A B |

A6 Bieps i AN 5 P

e ﬁlﬁ‘jg Lo b a(id) f&ﬂf&ﬁ@f&,;?_v
d f AAB={a,e} -‘Lt‘//zlﬁ/AAB




:(Use Venn diagram to verify) Q/Qﬁrijéljdugd 17.1.3(ii)
:(Commutative property of union and intersection ) _J;L/.:/fl}d/ d’ GalJ <
:( Associative laws) f’“:‘-ff"? <
«(Distributive laws) tf:}d:’; <
:(De Morgan’s laws)dfliégf/rdf <
:(Commutative property of union and intersection )JJ?MGJé@'/}'JL}U’ <
_Q://&."ﬁrl/@b"djq/@cu Ju)@gij;yqué@/,W:uj’T
S G S8 2k e b SEE B=(4,6,8) 1 A={1,2.3,4,5.6) Joi7 - )

AUB=B UA Jsbretb S U1 iz
BUA AUB :
B A Y B

y g

Gi) F O F
= Gi) S /e =) F S e

BUA ={1,2,3,4,5,6,8) AUB={1,2,3,4,5,638}
_‘gﬂu/;uf(ii)ym(i) J{ﬁfl,;.ww/,u,gmLumwwuf/gm,v
AUB=B UA
ANB=BNA J;ywu‘f @ G JL"Z
B NnA ANB
1] A A 1]

g

i) M F
=G F /e EEOWAEVALSS
BNA={4,6) ANB={4,6} )
-‘Lﬂl)/)u:(ii)‘ﬁ'/:!(i) ijfg«fw/.u,uwziuwJu:u:(/gm,,v
dudsds ANB=BNA




AN(BNC)=(ANB)NC iy ZJor iy,
RHS=(ANB)nC LHS=AN(BNC)

ANB BN C
A C A C

(o)

B B
Gii) P G F

(AnB)"N C

B B
Gv) F G f \
= GF S sy = GiD) F S diseys
(AnB)nC={6} AN(BNC)={6}

L e UG 16D B St a0 S o e s o

AN(BNC)=(AnB)NC
Sread A
:(Distributive Laws) (JLL“u.f‘ﬂ;" <
-w@d&d;myﬂdégﬁzﬁd}muﬁliﬂféuﬁq;,gu
A={1,2,3,4,56) JSIAS LI LEE ST S
C={2,4,6,8} £ B={3,4,5,6,7}




Wbz
:(Distributive law of union over intersection) rjl}:‘ujte' d:@b @ L(Ji) ’
AU(BNC)=(AUB)n(AUC)
RH.S=(AUB)N(AUC) LHS=AU(BNC)
AUB BNC

(i)y

(iV)y

(AUB)N(AUC) AU(BN C)

A H

(&)

X

W F (i) f
= W F S i < (iD) F S By
(AUB)N(AUC)={1,2,3,4,5,6} AU(BNC)={1,2,3,4,5,6}

U5 () S i) B Szt 6 St Bt b sl 2
AU(BNC)=(AUB)N(AULC) &
&n&"ﬁ




:(Associative Laws) fIFclld <

cZ Jedionn AL LETFB ST ) $iepsan
Q/QﬁJrM’ufl}Ld’@uU@l?C={5,6,7,8}/Jl B={6,8,10} . A={1,2,3,4,56} /: )&
AU(BUC)=(AUB)UC (Heitr st LJui ¥4

RHS=(AUB)UC LHS=AU(BUC)
BuC

B B
(iv)af’ » i
() Fdp /e S ON AR
(AUB)UC={1,2,3,4,5,6,7,8,10} AU(BUC)={1,2,3,4,5,6,7,8,10}
ujiZLlA/;ui‘ (ii)gfj s (i)Jﬁ S lf:.‘.’u?/.l/.u%léumleu:‘i Ll
AU(BUC)=(AUB)UC
$nJud




:(De Morgan’s Laws) uflfiuérdﬁ <
u:/&fﬁrl/dlﬁd}dz@(fufi}d:cfci‘dﬁc‘_)x JJC’J}';JW‘J:/T
J"/Qﬁﬂjéiﬁd":;j/,@gfuf!}éu’ir‘dﬁ:dk’ff
B={2,4,6,8,10} s A={1,2,3,4,5,6} .U={1,2,3,...10} ]

(AUB) =A'~B (:Jt

RHS=AAB' LH.S=(AUB)
A’ A UB
u B 1] & H
c T o
Gi) F O F
Bl
u A -]

/ KB ‘ (AvB) ‘
) J@ (11)

A'NB'={7,9} (AUB) ={7,9}

P>

E s (V) Jﬁ‘/;i(ii) ﬁf?%u?/,!/,ugﬂémew%{ Lo
(AUB) =A'nB

&n&fﬁ

00




s ey
Distributive law of intersection over union u‘fa) U: (3 (ii;
AN(BUC)=(ANB)U(ANC)
RHS=(ANB)U(ANC) LHS=AN(BUC)

Wk R
N =G F L S
=W P Am(BuC)=q2,3,4,5,6}

(ANB)U(ANC)={2,3,4,5,6}
— VIS U (WD) F G 1 Lo a6 & sl Ste (W

AN(BUC)=(ANB)U(ANC) ?

szﬁ




(ANB) = A" UB' (i) 1

RH.S=A UB LHS=(ANB)
A ANB
v A L L A B
L b 7 9 9
Gi) F* 0 F
B
'} A B
7
() F* ,
A'UB (AnB)
U A 1] U A B
7 9 7
Ol (i) f*
Jer L W S Sy b LG F 1 S
A'UB' ={1,3,5,7,8,9,10} (AnB) =1,3,5,7,8,9,10}

AW PG FF Szt a6 S Sty Lo

(ANB) =A"UB' %

én[}.’.ﬁ

-
¢

o




17445

AABANBAUB j pord LUne (/BaAS -1
St/ Siers £ A-Bus
_gwu{KBJAJ (iii) uyu*’urcj/”’BJ)’A(ll) U’?Jw!iu’)BmA )
A LI 48D et b S E Mo S S si
B={a,e,i,o,u} £ A={a,b,c,d,e} 1)
Q={2,4,6,8,10} ¢ P={1,2,3..10} (i
ﬁq/&ﬁd@ﬂiéu@mjﬁﬂf Qs aik 3.
U={1,2,3,..,10} s/ B={5,6,7,8} A={1,3,5,7,9} [
Ji J/ d,wJ u‘J o u’mlou"u’ u’(l/ RO DS
C={5,7,9,11} »s/B={4,6,7,8,9,10}  A={1,2,3,...,8} /|
:(Ordered pairs and Cartesian products) V/Jlbﬁjﬂﬂgjﬁb‘}‘;’ 17.1.4
ugélﬁ//dzb?‘ d/“fﬂ!d_u}‘agu///uﬂL&/Qﬁ%iul)dm/u’f’/u/ﬂ)ibdf/g
Uiz Tl e & Je 2 L0 606 g5 a2 RS
~¢L/JL—M“IV/J‘(PU';JK
:(Recognize ordered pair) _J2* > 17.1.4 (i)
U-;(/af/ iéb la ;!,wldu.’uu/ Sy Uw(lu’u/-at“lab(/g)lpluﬂg.««/u"ﬁu,?g)ml
Lo tkract(ab)eins 2 Sl b (ab) S tnr 2 Lbslal 2 o o dbs
#U)’[/.'/.J/JLU’/UYL}”/’/G/‘,}?J/"‘})-LL"M/‘Z;LJ//’/})bj}’/‘:ﬁ
& A4(9,y ~6)(x+5,8) Jiz St 8§ v o x: e

(9.y-6)=(x+5,8) ¥ W
= 9=x+5 = y—6=8
= 9-5=x = y=84+6
x=4 | y=14

Jasdes Aed S v x1y)
:(To form Cartesian products) w‘b‘,/‘)"lﬂj* J617.1.4 (ii)
/,:(a,b)(—j}?b.;/““'w}?-%&t?JﬁWLQ/JIbJé’/KLBJA Juperdi /:;))B/}’A /ﬁ
beBulae AUy ujz_ﬂy
Ax B:{(a,b)|ae Al be B} <

<3l L Auie AL buE K ASBL ST
BxA:{(b,a)|be B s ae A}




Q={5.10} s P={1,2,4} [ 1L i
PxQ={(15),(110),(2,5).(2.10),(4,5).(4.10)}
QxP={(5.1),(5.2).(5.4),(10.1),(10,2),(10,4)} !

<t B 1S A”  AxB (i) ed
O(AxB)=mn jO(B)=n .1 O(A)=m J (ii)
AxB=BxA 470 (i)
: (Binary Relations )Lpélﬁ'17.2
J /. .:«51;%( (Range)»Js/(Domain) 3l (5T U,,'/( ol J Lg/(jlf:'
) : (Binary Relations )L,J/Jl’f <
_(LMB,/JL;?BLA‘R&{[}{J[KAXB y/déozww#dl}ﬁ};;&fB/;!A /'7
LZ/()’”;B:{zA} sA={ab,c} [i: )&
UBe Ablsss (a)
A < Bhlugt  (b)
BuLSEL (o)
U:B¢A; ,L.Jlu»(a):di
AxB={(a,2),(a,4).(5,2).(b,4).(c.2).(c.4)} Ulx
R,={(5,2),(c.2).(c:4)} 5IR, ={(a,2),(b,4)} !

wuﬁBLALﬂuuLéI o
VA Bhist 34 (b)
Bx A ={(2,a),(2,0).(2.¢).(4.a).(4.b),(4,c)} Uk

R; ={(4.a).(4.0).(4.c)} # R, ={(2.a)},R, ={(2,a).(2.0)] <+ \
u}u’:Ac_BJ:gluUfJ:( )
J-B L}lu(}t’leg(c)
BxB={(2,2),(2,4),(4.2).(4.4)} U
R, ={(2.2).(2.4)} 1Ry ={(2.4).(4.2)} . R, ={(22)} R, =0
SLUB L}ludl‘f/lg

(Range) sJs! (Domain) 1,3k <

(LR, DomRuEe il 26 2 (Domain):aleR?-uZBq;A&:g@/&L’qu/ S
Uz P LRyl S b= Range S(Range)s§Roc sk (i &t L sz s 2
La.:{KJ//(L:’L/»

R={(1,4),(2,4),(3.5).(3.6)} » B={4,5,6,7} . A={1,2,3,4} | : J&
Range R ={4,5,6} sl Dom R ={1,2,3} J 406 LB A




&Lufuﬁu"N RJzudL«.fl Nulx ye N/ :Jc’
-J/r)l"‘(f(Range) uul/!,alw/;!u‘“”du"yg?!ul/Ri R= {(x y)|x+y= 5}
R={(L4)(23).32. (40} efinn W

Dom R _{1,2,3,4}ut¢
Range R :{1, 2, 3,4} 23
(Function) JE17.3
2 LK =3 0 F6 e oa AT L P P ol LK LIS S
/J&ﬁdl.;{,‘al"ﬁcyfl = Tl'TZUJ’“ ”J!;/AJ}K@/I;/})’LJV LUL’/ Kuuu.vtuwu

£ S glerss
J (Range) 25 151(Co-domain) 71 3 .{ ; (domain) 7/ 51%{ JT s /( <2loy J J’ @(@{@17.3
St

I8 (Range) 133 % 15 6 domain) 3 o 2 U2 e b3 i (Function) FG
< S L1(13),(24).(3.5).(46)] ot Lo boon L L
Z:L;)K/!»L(Range) 11'2‘dcg(domain)jlﬁbfﬁ/guﬁ;di@{(155)’(2’6)’(2’7)’(3’9)} J/L::"

4"_:/311,/»71/ '

:(Function from set A to set B )J@JB&{LA.L{ <
S Be AE 1 FERT e b6 By o Al Rusliterdb & wBulAg S P )
/ A = (domain) /1 3b6R  (5)
2 e fBb=ci(ac) € Raap) € R i e f 3l # LB 2/ s r6ARR (i)
_u‘z_/’//w:,u/)a B, }//)la/;fg hdfu]dt/»td//i
el W 2§ ed Lisbi(ab) € f ol f:A - B urfluyAiBe Ac JE L)
b=t (a) Uy

{(1,2 (2.3).(3.4)} ()
R, ={(1.2).(2:3).(2.4).(3.4).(4.5)} (i)
R, ={(1,2),(2.3).(3.4).(4.5)} (i)




R ={(12).(23)34)} @
DomR, # A f{‘ng’J‘Lﬁ‘Rl
e VWt e S e b e
R, ={(12).(2.3).(2.4).(3.4).(4.5)} (i)
ZBY ‘LQJZV{IK(Domain) }!bef./‘auﬁ;gf@"Rz
‘auj;»jbayVLJ//ugJ/
W S35 e b S e
R,y ={(1,2),(2.3).(3.4).(4.5)} (iii)

E|
A B
»Dom Rz=A fx’./‘aJ‘LﬁR:;
-‘L:{i;JVLJ//ugJ/‘LBdC/"K}"lJl’
-c‘;l“f@u/;uﬁ(lf&lj_fgfbf

(Range) ..5(Co- domain) /1.3 ysb+(Domain) /3 <
Sl ¢aloe KJIB/}lc‘;L"M&,{’M,(Domain)}"lJlPKJlA;f: A-B 4+J€VQ¢B¢A‘M
_‘Lt'l,b;( . /»(Co-domain)
‘L.L{({E:"’V" d/f,(Range) Kb
oy LU 3L e M e FE LT B ASJE
(Range) 1.s/(co domain) Il 3 ¢sbi(domain) 1 Sk
Je L3l
Range R = {x,z}, Co-domain f=b = {x,,z} f .Domf =A ={a,b,c}
f(c)= - f(a) =x skl

-c‘,t'n.‘;ﬂ:‘; §(Co - domain) 1 3 ystJ < [(Range) PAs; ) s
_g.ujuub‘)ldg-é"_t'ﬁydi@/z (i)
Demonstrate the following J”/yu;JJJ,?/,w 17.3 (ii)
:(Into and one-one function (Injective function)) (J@;?U')J@UFUU!’;U’ <
:(Onto function (Surjective function) (J‘@;Q/)J‘Lﬁjuﬂ <
:(One-one and onto function (Bijective function) (J‘@}%épd‘@}'”ww,—u, <




:(Into function) FEJ <
9VMJ@iu; f:A>B 6,2 LBusiacrdy
(Range f B)LL&.{’C‘?*«Q!:KB‘(Range) SN
Lfgl;ug f:A>B Sl Bz{a,b,c}/ﬁlA:{x,y,z}:JC‘f
e FEden =) () (-0) 2 vk
Rangef:{a,b} ul{ﬁ%ﬂu/,ujf’fw Range f — B

:(One-one function) J‘L&jc)}-c)} <
LAVMJ@Uﬁ—Uﬁ f:A—B ‘gcﬁ B/)!A&{»J;’/
e U 2 B 6
Ui £:A—>B SBLnd ZB=(2,3,4) s A={1,2,3}: J&
Be /ﬁKAf{‘LJ‘Lﬁww f={(12).(2.3).(3.4)} uJZ-//fb
e MU S B Mo U 2 il
:(Into and one-one function or injective function )J'@;@u&d‘@u;—u;m;u! <
e bl SO AR U F sl S 2 fE L
U B={23,45) s A={1,2,3}., 0 L
LS E Uy f:ASB
< SEAR UL £={(1,2),(2.3),(3.4))
S Ui £
W Q) oo S e
/ (ii)g}é (1) Jﬁ LL;/flujgg:AaB S
e VIO UG B S8 Mo e F 651 g =((1,3).(2.5).(3.4))
:(Onto function or surjective function ) J‘L;j ",,./.L‘J‘Lﬁjuf <
et bl FE52 A SGITT:A>BIFE 2 L Baiazrds
‘LJ@Jugyu,J/,MLJ@ Range f=B
f:A>BSEB={p,q} s A={ab,c} : J&
£={(ap).(5:9).(e:0)} - bl T 0
WS oS le £:A>B £l FEiuT
J@if’.égw‘@iuu’mu;—u: <

:(One-one and onto function or bijective function)

-c".b'llfrdil&‘;;g?éll&di@jufmUJ—UJoﬁﬁ;f;ufjpﬂﬁ;U)—UJXL)‘@

I




el Thus £ ASB FE B={1,9,25WA={1,3,5) 0 L e
fwuwu, e e SR, £={(11),(3,9),(5.25))
WUt

e P ST S s GiD17 3

:(Examine whether a given relation is a function or not)

s s29 [(domain) 1 3b Ly, 2% LLJ‘WL};U’B;L T L0 Soale
AL otie Lt u/gfwmc_a,wﬁu( 3/¥(domain)i zv./)

-c.u“d"wau,,
e Sl S/ ,Lég_g@u:rl/ JlﬁJ}:/ P B Al F S S fouz i
(i) (i} (i) —e Uil
Ry P".‘ R,
B 5 B

_+u57 j&i/“4”d(/£(domain) 130 £l +u57 JSER,

Ut “37 L (domain) F1.36 6o = oF FER,

e /)L}/‘Jﬂ/ﬁ(domaln)ﬂﬂf/c;‘fw R,
u/fu;u/u‘d‘ww Uassledlbr s—s(1v)17.3

:(Differentiate between one-one correspondence and one-one function)
/KJ&U" B sAesbr u"u"dla/u B AIAU’/U’/
_Lt'/u“rc’d Sl s- U)L./’l)ﬁ’b’éu( ..flq/‘éb/;/uu(
-c‘-d//zlb[«,fw edbr ¢ s—eh(1) «){’.{,/)ELJV
-‘géfﬁwfh)‘@u;—u,,f{‘auﬁ’aawu,—u;(ii) J{;

A B A B




17.5 3

/lu:/r)l’”uﬁ‘d/yuix 1.
(x=510)=(1Ly-7) ()
(5x+8,5y—4)=(3x+10,2y+2) (i)
(2x=3y,5x+y)=(3,16) (iii)

U S ILPXPsIQXP, PxQILt 15 £Qer (S A0LPey i 2
i C={1,3,5) yB=(2,3} A={1,2} ]| .

(i) AxB (i) BxC (i) Ax(BUC)
(iv) Bx(AUC) v) (AnB)x(BNC)
/s IB={1,2,3} MA={5,6} f| 4.
Wiss e JABxA (i) Wik JAAXB (i)
WA (W) Wi Gy B (i)

g[/r)l’”;!ﬁd/bglu"gu:AXB;O(B)=4/)lO(A) = 3/’1‘44’:B151A¢{» 5.
B={2,4,6,8 » A={0,1,2,3} L_,»JJ S PG ES S5 5.-AXB 6.
beB siacA SlesUly
(i) R,={(ab)|b<5)} (i)  R,={(a.b)|a+b=9)}
(i) Ry ={(a,b)|a-b=1)|

N

Je 7 ,R={(x,y) |ly= 2x+5}},g//(l
-{-2-1,0,1.2} #(domain)/1 3611/ ¢+ (Range) .; ()
- {1L13,1517} #(Range) .. 1y/7 ¢#*(domain) 1 3k (ii)
u/ (}1” (Range) 3. (domain) 21 o> § bls s f 5.5 0u0F p S 6o 6L was.y Jis.
(i) {(x,y)|3x+yfll} i)  {(xy)lx—y=6}

U E U S0z £={(1,5),(2,6),(3,7),(48)) G F: A BST 0.

f(4)#1£(2) ./, ¢#*(Range) »(co-domain) 1.3k sl L 19B=N.sA ={1,2,3,4}
UGB A i a7 B=(2,4,6,8,1010A={0,1,2,3,4) 1) 10.

U raluit S

0 R ={(02).(1.4)(26).3.5)




(i) R, ={(0,10), 2,6).(2.4),(3.4).(4.2)}
(i) Ry ={(0,2), 14)(26 (3.8).(4.8)}
(1v) R, ={(0,2).(1,2).(2.2).(3.2).(4.8)}
R; ={(0.2),(1,4),(2,6)(3.8).(4,10)}
-au’wdfc_u"uiubaudlb‘U) uﬂawlﬂu:—u;b’fuﬂf;p/y 11.

) : (ll) (111)

u:/r,l.v; R={p,q,r,s} 1 Q={x,y,2} P={a,b,c} [ 12.
< e L2l P FE GiD) qIupf S ()
< 2A 2 PI= QKSIFG (iv) PJUR.gfE (i)

Review Exercise 17 ./ /_k_izer 1.

-9&58; ENUS ()

(a) Z ® Q (0 E (d P
«~— Jf"j.wJ A={x|xe Z/\x2=25} (ii)
(a) {15} ® {55}
(©) {1,5,25} @ {-5}
y O(A)=O(B) /fl‘gé BulA ey (iid)
() AcB (b) B=A
() A~B @ AcB
< {x|xe N/\x<1} (iv)
(a) 2 (¥ (b) 465
(© exrdl @ 37
AAB= 7 B={2,4,6} sA={1,234) [I ()

(a) {12} () {6}
© {L.3} @ {13




@ JdE & da AU
© 3} @ g
{x|xe Pvxe Q}=
(@ PnQ (b PuUQ
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